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QUESTION 1

True of False, N8500 volume mirroring function synchronization can be understood as a file system to do 

RAID 1 to achieve image protection This protection is done in two ways: 

One Species is the mirror roll between showrooms, the display level of protection, a display failure, the 

business is not affected; the other is the mirror image display within the exhibition. 

RAID level protection, a RAID group failure, the business will not be affected. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 2

As shown in the figure, the main features of this backup network mode are: (Multiple Choice) 

A. Backup tasks will consume a lot of LAN resources. 

B. Backup tasks will consume few LAN resources. 

C. Backup tasks will consume a lot of CPU resources of the production system. 
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D. Backup tasks will consume few CPU resources of the production system. 

Correct Answer: BD 

 

QUESTION 3

An OceanStor 18000 storage system carries the VDI service. The read/write ratio of the front-end workload is 2:8. The
customer requires 20,000 IOPS to be offered. 10k rpm SAS disks (assuming that the average seek time is 3 ms) are
used, and RAID 5 is configured. In this scenario, which is the minimum number of disks that must be configured for the
storage system? 

A. 600 

B. 408 

C. 387 

D. 550 

Correct Answer: D 

 

QUESTION 4

In backup design, the required capacity for backup data (without deduplication) on site A is 3000GB and the required
capacity for backup data (without deduplication) on site B is 1500GB. It is required to replicate the backup date from site
B to site A, the deduplication ratio for replication is 3. The back-end capacity on site A should be no less than (Ignore
redundancy ratio): 

A. 4500GB 

B. 3500GB 

C. 2500GB 

D. 1500GB 

Correct Answer: B 

 

QUESTION 5

In a A VTL6900-I system, the backup server connected to it is the Linux operating system. The backup server and the
VTL6900-I system are directly connected through the FC. The server identifies the device information as shown below.
After the backup server is configured as a backup client for the VTL6900-I system and the backup VTL system on the
server virtual library process, which the following operation and description is correct: (Multiple choice.) 

A. When configuring the backup client on the VTL side, you need to know that the WWPN of the FC port that connects
the VTL to the VTL is available on the server in the sys /class / fc_host directory and subdirectory to the corresponding
WWPN port. 

B. Server-side identification has been detected with the library device command is cat / proc / scsi / scsi. 
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C. As shown in the figure, among the devices identified on the server side, the device labeled 1 is the scanned library. 

D. As shown in the figure, of the devices identified on the server side, the device labeled 2 is the information for the
scanned tape. 

Correct Answer: ABC 
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